

12/14/2023

**Vendor Ranking** 

Page 1 of 1

08231212 Letting:

December 12, 2023 02:30

РМ

Call Order: 004

Contract:

E8U90-R0

District: Turnpike

Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A PALM BEACH, TURNPIKE Project(s): 19276327202 (\*)

Contract Time: 365 CALENDAR DAYS

Contract Desc: DRAINAGE MAINTENANCE - SAWGRASS XWY & MP 73 TO 100 - ZONE I

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FLOTECH ENVIRONMENTAL LLC	Responsive	Winning bid	\$430,262.01	100.00% Intent
2	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$447,259.75	103.95%
3	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$499,373.00	116.06%
4	CATES TRACTOR SERVICE LLC	Responsive	Non-Winning Bid	\$576,540.00	134.00%
5	ENVIROWASTE SERVICES GROUP, INC.	Responsive	Non-Winning Bid	\$703,653.00	163.54%
6	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$755,389.69	175.57%
	T.T.C. ENVIRONMENTAL, INC.	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: DECEMBER 19, 2023 AT 4:00 PM





#### **Tabulation of Bids**

Page 1 of 11

**Letting:** 08231212 December 12, 2023 **Call Order:** 004 **Contract:** E8U90-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 19276327202 (\*)

Contract Descr: DRAINAGE MAINTENANCE - SAWGRASS XWY & MP 73 TO 100 - ZONE I

The work specified in this Contract consists of providing all labor, materials, equipment, and all incidentals necessary to perform maintenance, repair, and restoration of the drainage systems, pipes, inlets, and storm water management facilities at various locations on Florida's Turnpike in Miami-Dade, Broward, and Palm Beach Counties.

#### NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT.

	No / Item ID	Alternate	Quantity Units	(1) FLO ENVIRONME		(2) SHENANDO CONSTRUC			MENTAL LAND OPMENT
	dicates item is bi	d as Lump Sum	55	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY						
0005 SEDIM	0104 10 3 ENT BARRIER		100.000 LF	9,00000	900.00	3,00000	300.00	5,00000	500,00
0010 FLOAT	0104 11 ING TURBIDIT	Y BARRIER	300.000 LF	10.00000	3,000.00	10.00000	3,000.00	10.00000	3,000.00
	0104 12 D TURBIDITY DRCED PVC	BARRIER- NYL	100.000 ON LF	10.00000	1,000.00	3.00000	300.00	10.00000	1,000.00
0020 REGUL	0120 1 .AR EXCAVATI	ION	500.000 CY	38.00000	19,000.00	15.00000	7,500.00	39.00000	19,500.00
0025 EMBAN	0120 6 IKMENT		200.000 CY	32,00000	6,400.00	20,00000	4,000.00	55,00000	11,000.00
0030 TYPE E	0160 4 3 STABILIZATIO	ON	200.000 SY	35.00000	7,000.00	10.00000	2,000.00	15.00000	3,000.00



Page 2 of 11

## Florida Department of Transportation



## **Tabulation of Bids**

Lettin	<b>g</b> : 08	3231212	December 12,	2023 <b>Ca</b>	II Order: 004		Contract:	E8U90-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) FLOTECH ENVIRONMENTAL LLC		(2) SHENANDO CONSTRUC			MENTAL LAND OPMENT
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY	1					
0035 CONCF WALLS	0400 2 11 RETE CLASS II	, RETAINING	12.000 CY	1,400.00000	16,800.00	1,750.00000	21,000.00	2,300.00000	27,600.00
0040 MODIF STRUC	0425 11 Y EXISTING DI TURE	RAINAGE	5.000 EA	3,800.00000	19,000.00	2,500.00000	12,500.00	1,500.00000	7,500.00
0045 MANHO SEALIN		S CLEANING &	10.000 EA	700.00000	7,000.00	800.00000	8,000.00	650.00000	6,500.00
0050 MANHO SEALIN		CLEANING &	10.000 EA	800.00000	8,000.00	900.00000	9,000.00	750.00000	7,500.00
0055 INLET (	0425 78 CAP, PRECAS <sup>-</sup>	Т	5.000 EA	3,800.00000	19,000.00	3,000.00000	15,000.00	2,100.00000	10,500.00
0060 REPLA	0425 82 CE GRATE		3.000 EA	800.00000	2,400.00	800.00000	2,400.00	500.00000	1,500.00
	0430173118 ULVERT OPTIO ), 18", GUTTEF	ONAL MATER R DRAIN	50.000 IAL, LF	165.00000	8,250.00	105.00000	5,250.00	210.00000	10,500.00
	0430173124 ULVERT OPTK ), 24", GUTTEF	ONAL MATER R DRAIN	50.000 IAL, LF	175.00000	8,750.00	130.00000	6,500.00	229.00000	11,450.00
0075 DESILT	0430950 ING CONCRE	TE BOX CULVI	100.000 ERT CY	175.00000	17,500.00	230.00000	23,000.00	185.00000	18,500.00



Page 3 of 11

## Florida Department of Transportation



## **Tabulation of Bids**

**Letting:** 08231212 December 12, 2023 **Call Order:** 004 **Contract:** F8U90-R

Letting:	08231212	December 12,	2023 <b>Ca</b>	I <b>l Order:</b> 004		Contract:	E8U90-R0	
Line No / Item		te Quantity Units	(1) FLO ENVIRONMI		(2) SHENANDO CONSTRUC			MENTAL LAND OPMENT
() indicates iter	n is bid as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTI	ON: 0001	(SODDING (SY						
0080 0433 1 CHEMICAL GRO INLET	UT REPAIR, MAN	2.000 HOLE / EA	2,000.00000	4,000.00	1,500.00000	3,000.00	2,850.00000	5,700.00
0085 0524 1 CONCRETE DITE REINFORCED, 4	CH PAVEMENT, N	50.000 ION SY	135.00000	6,750.00	95.00000	4,750.00	120.00000	6,000.00
0090 0530 1 RIPRAP, SAND-0		25.000 CY	600.00000	15,000.00	350.00000	8,750.00	1,050.00000	26,250.00
0095 0571 1 PLASTIC EROSI REINFORCED M	ON MAT, TURF	750.000 SY	11.25000	8,437.50	11.00000	8,250.00	9.00000	6,750.00
0100 E101 72 MOBILIZATION ( RESPONSE)		5.000 EA	1,300.00000	6,500.00	1,200.00000	6,000.00	4,250.00000	21,250.00
0105 E103 3 TEMPORARY W HYDRAULIC PUI	ORK STRUCTURE	1.000 E, ED	0.01000	0.01	3,500.00000	3,500.00	1,250.00000	1,250.00
0110 E110 2 CLEARING & GF		2.000 AC	10,000.00000	20,000.00	1,500.00000	3,000.00	12,900.00000	25,800.00
0115 E425 73 CLEANING MAN (MECHANICAL)	3 1 HOLES AND INLE	700.000 TS EA	135.00000	94,500.00	275.00000	192,500.00	185.00000	129,500.00
0120 E425 73 REPAIR LEAKS INLETS	3 2 IN MANHOLES AN	10.000 ID EA	900.00000	9,000.00	500.00000	5,000.00	750.00000	7,500.00



Page 4 of 11

## Florida Department of Transportation



## **Tabulation of Bids**

Letting	g: 0	8231212	December 12,	2023 <b>Ca</b>	II Order: 004		Contract:	E8U90-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) FLC ENVIRONM		(2) SHENANDO CONSTRUC			MENTAL LAND OPMENT
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY	•					
0125 FRAME	E425 73 3 AND GRATE	(F&I)	10.000 EA	1,100.00000	11,000.00	950.00000	9,500.00	1,000.00000	10,000.00
0130 RESET	E425 73 4 EXISTING FR	AME AND GR	5.000 ATE EA	700.00000	3,500.00	675.00000	3,375.00	200.00000	1,000.00
0135 CLEANI (MANUA		ES AND INLET	250.000 FS EA	0.01000	2.50	50.00000	12,500.00	100.00000	25,000.00
0140 SECURI	E425 73 6 E MANHOLE	/ INLET LIDS	5.000 EA	750.00000	3,750.00	500.00000	2,500.00	500.00000	2,500.00
0145 MANHO	E425 73 7 DLE FRAME &	COVER	3.000 EA	1,200.00000	3,600.00	1,300.00000	3,900.00	1,500.00000	4,500.00
0150 MANHO	E425 73 8 DLE COVER		2.000 EA	400.00000	800.00	500.00000	1,000.00	400.00000	800.00
0155 DESILT	E430 94 1 PIPE, 0 to 24	п	2,181.000 LF	12.00000	26,172.00	4.75000	10,359.75	8.00000	17,448.00
0160 DESILT	E430 94 2 PIPE, 25-36"		500.000 LF	15.00000	7,500.00	5.25000	2,625.00	9.00000	4,500.00
0165 DESILT	E430 94 3 PIPE, 37-48"		500.000 LF	18.00000	9,000.00	15.00000	7,500.00	11.00000	5,500.00





## **Tabulation of Bids**

Page 5 of 11

Letting:	08231212	December 12,	2023 <b>Ca</b> l	II Order: 004		Contract:	E8U90-R0	
	o / Item ID Alto	ernate Quantity Units	(1) FLC ENVIRONME		(2) SHENANDO CONSTRUC			MENTAL LAND OPMENT
() indica	tes item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
\$	SECTION: 0001	(SODDING (SY						
0170 E	430 94 4 PE, 49-60"	500.000 LF	25.00000	12,500.00	20.00000	10,000.00	16.00000	8,000.00
	431 111 R, SPRAY APPLICA	100,000 TION, 0-24" LF	200.00000	20,000.00	125.00000	12,500.00	250.00000	25,000.00
	431 112 R, SPRAY APPLICA	50.000 TION, 25- LF	280.00000	14,000.00	135.00000	6,750.00	350.00000	17,500.00
	432 4 EWER INSPECTION	400.000 (VIDEO LF	5.00000	2,000.00	5.00000	2,000.00	8.00000	3,200.00
0190 E	575 1	750.000 SY	11.00000	8,250.00	11.00000	8,250.00	6.50000	4,875.00
	0001 SODDING (S	SY) Section Totals:		\$430,262.01		\$447,259.75		\$499,373.00
	Contra	nct Grand Totals:		\$430,262.01		\$447,259.75		499,373.00





## **Tabulation of Bids**

Page 6 of 11

Letting	<b>y:</b> 08	3231212	December 12,	2023 <b>Ca</b>	II Order: 004		Contract:	E8U90-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) CATES TRAC		(5) ENVIROWAS GROUI		CONSULTING	NAGEMENT &
() ind	icates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	_C Ext Amount
	SECTION:	0001	(SODDING (SY						
0005 SEDIME	0104 10 3 INT BARRIER		100.000 LF	5.00000	500.00	12.00000	1,200.00	1.00000	100.00
0010 FLOATIN	0104 11 NG TURBIDIT	Y BARRIER	300.000 LF	40.00000	12,000.00	20.00000	6,000.00	1.00000	300.00
	0104 12 TURBIDITY I RCED PVC	BARRIER- NYL	100.000 LON LF	55.00000	5,500.00	25.00000	2,500.00	1.00000	100.00
0020 REGULA	0120 1 AR EXCAVATI	ON	500.000 CY	40.00000	20,000.00	135.00000	67,500.00	101.00000	50,500.00
0025 EMBANI	0120 6 KMENT		200.000 CY	55.00000	11,000.00	215.00000	43,000.00	101.00000	20,200.00
0030 TYPE B	0160 4 STABILIZATIO	ON	200.000 SY	88.00000	17,600.00	45.00000	9,000.00	44.00000	8,800.00
0035 CONCRI WALLS	0400 2 11 ETE CLASS II	, RETAINING	12.000 CY	140.00000	1,680.00	425.00000	5,100.00	3,600.00000	43,200.00
0040 MODIFY STRUCT	0425 11 'EXISTING DI TURE	RAINAGE	5.000 EA	5,000.00000	25,000.00	975.00000	4,875.00	6,000.00000	30,000.00
0045 MANHOI SEALING		CLEANING &	10.000 EA	2,000.00000	20,000.00	575.00000	5,750.00	1,500.00000	15,000.00



Page 7 of 11

## Florida Department of Transportation



# **Tabulation of Bids**

Letting:	08231212	December 12,	2023 <b>Ca</b>	II Order: 004		Contract:	E8U90-R0	
Line No / Item Item Description		te Quantity Units	(4) CATES TRAC		(5) ENVIROWAS GROUP		(6) ROGAR MA CONSULTING	OF FLORIDA
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price I	C Ext Amount
SECTIO	N: 0001	(SODDING (SY	,					
0050 0425 74 MANHOLES & INL SEALING, >10'		10.000 & EA	2,200.00000	22,000.00	1,150.00000	11,500.00	1,500.00000	15,000.00
0055 0425 78 INLET CAP, PREC	AST	5.000 EA	5,000.00000	25,000.00	2,575.00000	12,875.00	6,000.00000	30,000.00
0060 0425 82 REPLACE GRATE		3.000 EA	2,500.00000	7,500.00	875.00000	2,625.00	3,000.00000	9,000.00
0065 0430173 PIPE CULVERT O ROUND, 18", GUT	PTIONAL MATE	50.000 RIAL, LF	120.00000	6,000.00	255.00000	12,750.00	400.00000	20,000.00
0070 0430173 <sup>-</sup> PIPE CULVERT O ROUND, 24", GUT	PTIONAL MATE	50.000 RIAL, LF	120.00000	6,000.00	325.00000	16,250.00	500.00000	25,000.00
0075 0430950 DESILTING CONC	RETE BOX CUL	100.000 VERT CY	75.00000	7,500.00	235.00000	23,500.00	269.00000	26,900.00
0080 0433 1 CHEMICAL GROUINLET	T REPAIR, MANI	2.000 HOLE / EA	5,000.00000	10,000.00	1,235.00000	2,470.00	2,400.00000	4,800.00
0085 0524 1 2 CONCRETE DITC REINFORCED, 4"		50.000 ON SY	140.00000	7,000.00	135.00000	6,750.00	325.00000	16,250.00
0090 0530 110 RIPRAP, SAND-C		25.000 CY	382.00000	9,550.00	245.00000	6,125.00	1,164.00000	29,100.00





## **Tabulation of Bids**

Page 8 of 11

Letting	<b>g:</b> 08	3231212	December 12,	2023 <b>Ca</b>	II Order: 004		Contract:	E8U90-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) CATES TRAC		(5) ENVIROWAS GROUP		CONSULTING	
() ind	licates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	_C Ext Amount
	SECTION:	0001	(SODDING (SY	•					
	0571 111 C EROSION M RCED MAT, T		750.000 SY	5.00000	3,750.00	165.00000	123,750.00	14.44000	10,830.00
0100 MOBILIZ RESPON	E101 72 ZATION (EMEF NSE)	RGENCY	5.000 EA	200.00000	1,000.00	1,500.00000	7,500.00	0.01000	0.05
	E103 3 1 RARY WORK : ULIC PUMP SI		1.000 , ED	500.00000	500.00	2,275.00000	2,275.00	6,000.00000	6,000.00
0110 CLEARI	E110 2 NG & GRUBBI	NG	2.000 AC	5,000.00000	10,000.00	2,500.00000	5,000.00	8,664.00000	17,328.00
0115 CLEANI (MECHA	E425 73 1 NG MANHOLE ANICAL)	ES AND INLET	700.000 FS EA	150.00000	105,000.00	205.00000	143,500.00	145.00000	101,500.00
0120 REPAIR INLETS	E425 73 2 LEAKS IN MA	NHOLES ANI	10.000 D EA	1,250.00000	12,500.00	175.00000	1,750.00	1,444.00000	14,440.00
0125 FRAME	E425 73 3 AND GRATE	(F&I)	10.000 EA	5,500.00000	55,000.00	1,875.00000	18,750.00	2,200.00000	22,000.00
0130 RESET	E425 73 4 EXISTING FRA	AME AND GR	5.000 ATE EA	2,000.00000	10,000.00	975.00000	4,875.00	1,862.00000	9,310.00
0135 CLEANI (MANUA	E425 73 5 NG MANHOLE AL)	ES AND INLET	250.000 FS EA	250.00000	62,500.00	205.00000	51,250.00	361.00000	90,250.00





# **Tabulation of Bids**

Page 9 of 11

Letting	g: 08	8231212	December 12,	2023 <b>Ca</b>	Il Order: 004		Contract:	E8U90-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) CATES TRAC		(5) ENVIROWAS GROUP		(6) ROGAR MAI	OF FLORIDA
() ind	licates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price E	C Ext Amount
	SECTION:	0001	(SODDING (SY						
0140 SECURI	E425 73 6 E MANHOLE /	INLET LIDS	5.000 EA	250.00000	1,250.00	875.00000	4,375.00	664.00000	3,320.00
0145 MANHO	E425 73 7 LE FRAME &	COVER	3.000 EA	5,500.00000	16,500.00	1,850.00000	5,550.00	1,400.00000	4,200.00
0150 MANHO	E425 73 8 LE COVER		2.000 EA	1,200.00000	2,400.00	650.00000	1,300.00	1,100.00000	2,200.00
0155 DESILT	E430 94 1 PIPE, 0 to 24"		2,181.000 LF	10.00000	21,810.00	5.50000	11,995.50	6.44000	14,045.64
0160 DESILT	E430 94 2 PIPE, 25-36"		500.000 LF	10.00000	5,000.00	7.75000	3,875.00	21.44000	10,720.00
0165 DESILT	E430 94 3 PIPE, 37-48"		500.000 LF	10.00000	5,000.00	8.50000	4,250.00	26.44000	13,220.00
0170 DESILT	E430 94 4 PIPE, 49-60"		500.000 LF	15.00000	7,500.00	11.75000	5,875.00	38.00000	19,000.00
0175 PIPE LIN	E431 1 11 NER, SPRAY /	APPLICATION	100.000 , 0-24" LF	150.00000	15,000.00	325.00000	32,500.00	300.00000	30,000.00
0180 PIPE LIN 36"	E431 1 12 NER, SPRAY /	APPLICATION	50.000 , 25- LF	200.00000	10,000.00	425.00000	21,250.00	300.00000	15,000.00





## **Tabulation of Bids**

Page 10 of 11

Letting:	08231212	December 12,	2023 <b>Ca</b>	II Order: 004		Contract:	E8U90-R0	
Line No / Item		Quantity Units	(4) CATES TRAC		(5) ENVIROWAS GROUP		CONSULTING	ANAGEMENT & G OF FLORIDA
•	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTIO	N: 0001	(SODDING (SY						
0185 E432 4 STORM SEWER II CAMERA)	NSPECTION (VIDE	400.000 EO LF	30.00000	12,000.00	15.50000	6,200.00	24.44000	9,776.00
0190 E575 1 SODDING		750.000 SY	8.00000	6,000.00	10.75000	8,062.50	24.00000	18,000.00
0001	SODDING (SY) S	ection Totals:		\$576,540.00 <sup>°</sup>		\$703,653.00 <sup>°</sup>		\$755,389.69
	Contract G	rand Totals:		\$576,540.00		\$703,653.00		755,389.69



12/14/2023

**Tabulation of Bids** 

Page 11 of 11

**Letting:** 08231212

December 12, 2023

Call Order: 004

Contract:

E8U90-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.